Best model for HELP J161207.317+564016.605 at z = 1.162 x2=2.27
OPTx2=2.81 IRy?=1.19 threshold (OPT IR)=17.29 [um]

Stellar attenuated

5 ] ----- Stellar unattenuated
10- 4 . — D issi
E m ust emission
] . ’__% —— AGN emission
] : J/ = Model spectrum
1]
10 E ® Model fluxes
] o M oObserved fluxes
—_ _
100 4
> 3
- ]
—
x 1071 5 ot
S Py AT
o ]

=

03

9
[EERN

Relative residual flux
o
| T Ll i
T
1 I
] 3
i
] I
] 1 :
I
I /
| I
] I
] I
] 1
I 7
1 ’
]
I
1
I
I
I
I
I
I
I
1
I
I
I
I
I
I
I
1
1

mfe= (Obs-Mod)/Obs

I
=

10° 10t 102 103 104 10°
Observed wavelength [um]



